CIELABN1 standard lightness I*

I* Ync=Yw nc=100,

¥ GiELABnL =116 (Y/Y;)M30-16  (¥,=100,¥,/100<Y<=Y,0)
1% y(3,6)=23,* ,(18)=50,I* 1y (90)=96

I* 96=96,01,y=3,0, 1§=1/3,0=0,33
I*1g=49,71, §=115 49 D,=-15,49
I*3,6=22,55,%,=49,71 Y=18

=49,714 m=50,02
L* =49, " =50

application
1 range

1Y,=18
Yw=90

Yn=3.6

CIELABN1
tristimulus value difference
Yac=Yw - nc=100,

I* cleLaBn1 =116 (Y/Y)Y30-16  (¥,;=100, ¥, /100<Y<=Y,)
log(dY) = (1/3,0) log[3,0¢,/115)] + [1-(1/3,0)] log)

I*,=50, dY,=

dYom13,45,y=3 7, 14=1/3,0-0,33

dY,6=4,60 S 115,49 D,=-15,4Y

Va5 Y4=100 dy=4,60 1
1v,=18

1 Yw=90

application
range

Yn=3.6

log AY/Y)
S=(AY/Y)

CIELABN1

tristimulus value sensitivity
Yac=Yw  nc=100,

¥ CiELABnL =116 (Y/Y;)M30-16 (¥;=100, ¥,/100<Y<=Y,0)
log(dY/Y)= log[3,0(Y,/115)] - (1/3,0) log{/Y,)

= (1/3,0) log[3,0¢,/115)] - (1/3,0) logy)

application
Tupnge

1
(dY/Yy5=0,1494=3,0, 14=1/3,0=0,33
(dY/Y)§=0,2555 S=115,49 D,=+15,49
(dY/Y},=0,4361 Y,=100 dY=4,60
1y,=18
1 Yy=90

=50, dY,=4,6Q dY,/Y,=0, 2555

Yn=3.6

log (Y/AY)
C,=(Y/AY)

CIELABN1

tristimulus value contrast
Yoc=Yw - nc=100,

I ciELABnL =116 (Y/Y)Y30-16  (Y,=100, ¥, /100<Y<=Y,()
log(Y/dY)= - log[3,0(,/115)] + (1/3,0) log{/Y,,)

= - (1/3,0) log[3,0¢,/115)] + (1/3,0) logY)

1
(Y/d%50=6,69,y=3,0, 1¥=1/3,0=@,33
(Y/dY)g=3,91 §=115,49 D,=-16,49 application
(Y/dY} 6=2,29 Y,=100Q dY= 4 6 range
1y,=18

Yw=90

Yn=3.6

e

el
e
(&

CIELABNL1 relative standard lightness*/I* ,
Y= Yw nc=100,

I GiELABn1 =116 (YY) 316 (¥,=100,Y,/100<Y<=Y, )
1 (3,6)=23, ,(18)=50,1* ,(90)=96

I* oo/l* =1,93,y=3,0, 14=1/3,0=0,33
I3l =100 '§~115,49 D,=-15,49
I* 3 gI*=0,45,%,=49,71 Y218 ,

application
1 range
1y,=18

Yy=90

[/ J=1, m=-022 =
L*, =49, ¥, =50

Yn=3.6

log(AY/AY,)
AYIAY,

CIELABN1 relative

tristimulus value difference

Yoc=Yw - nc=100,

I* cieLaBny =116 (Y/Y)Y30-16  (Y,=100,Y,/100<Y<=Y,)
log(dY/dY,) = [1-(1/3,0)] log¥//Y,,)

dYogdy=2.92,1=3.0, 11/—1/3 0=0,33
dY;g/dY,=1,0q 49 D,=-15,49
dY5 Y, =0,34 Yoo lOQ dY=4,60

e
o

application
range

Y,=18
Y=90

YN=3.6

log [AYY) I (AYIY),]
SSu=AYN)AYY),

CIELABNL1 relative

tistimulus value sensitivity
Yoc=Yw -~ nc=100,

I* cieLaBny =116 (Y/Y)Y30-16  (Y,=100,Y,/100<Y<=Y,)
log[(dY/Y)/(dY/Y),] = - (1/3,0) log¥/Y,,)

(AY/Y o/ (dY/Y)=O,
(dYPAY/Y)=L
@YIYh oM=L

58,y=
,00
.70

0, 1§=1/3,0=0,33
L1549, ==15,49
Yr=100 d¥‘=4’6%{|-3plication

=3,

log[(dY/Y)(dY/Y),]=0, mu——03
I* =50, dY,=4,6Q dY,/Y,=0,2555

Yn=3.6  Yw=90
log [(Y/AY) I (YIAY),] CIELABN1 relative
CICy=(YIAY)/(YIAY), '{I(S[In;l.\j\l/us value contrast

=100,

I GiELABnL =116 (YY) 316 (¥,=100,Y,/100<Y<=Y, )
logI(Y/dY)/(Y/dY),] = (1/3,0) loglY/Y,)

(Y/dY}/(Y/dY)=1,70,y=3,0, 1§=1/3,0=0,33
(Y/dY)g/(Y/dY)=1,0Q S=115,49 D,=—15,49
(Y/dY} g(Y/dY)=0,58 Y,=100 d¥=4,60

log[(Y/dYY(Y/dY),]=0, m/=0,33 s

I* =50, dY,=4,6Q Y,/dY,=2 = = ~

0 application
range

v,=18

Yy=90

YN=3.6




